
S21HL
Horn loaded

21 Subwoofer

1x21” Woofer – 21DS115 / 4 ohm

1www.bcspeakers.com – Suggested Designs



2www.bcspeakers.com – Suggested Designs



3

Transducer (21DS115 / 4 ohm)

www.bcspeakers.com – Suggested Designs



4

Enclosure Design
Internal View and Notes

- 18mm Wood thickness (birch plywood
suggested)

- A good dampening material (acoustic foam
suggested) should be placed inside the rear
chamber. 

- M8 screws suggested for attaching the 
transducer to the baffle

- M6 screws suggested for the access panel.

www.bcspeakers.com – Suggested Designs



5

Measurements
Unfiltered Frequency Response 2V @ 1m

www.bcspeakers.com – Suggested Designs



6

Measurements
Impedance @-20dBu Input 

www.bcspeakers.com – Suggested Designs



7

Active DSP Settings

Gain: +4dB

HPF: 28Hz – BTW 24dB

Peaking #1: +6dB – Q:1 – Frq:35Hz
Peaking #2: +3dB – Q:3 – Frq:60Hz
Peaking #3: +3dB – Q:6 – Frq:105Hz
Peaking #4 - -6dB – Q:3 – Frq:130Hz

LPF:  100Hz – BTW 24dB/Oct

Processed Freqeuncy Response

www.bcspeakers.com – Suggested Designs



8

Enclosure Design
Exploded View

www.bcspeakers.com – Suggested Designs



9

Enclosure Design
Exploded View and Parts

‘N’ panels (2 needed):
Reinforcements for the rear woofer
chamber, see next page.

www.bcspeakers.com – Suggested Designs



10

Enclosure Design
Internal Components Assembly (Upper View Without Top Panel)

‘N’ Panels (2 needed):
Reinforcements for the rear woofer
chamber, they have to be placed
between panel E and I, in the same
position of the horn reinforcements
(O panels). www.bcspeakers.com – Suggested Designs



11

Enclosure Design
Part A: Bottom/Top Panels (2 Needed)

www.bcspeakers.com – Suggested Designs



12

Enclosure Design
Part B: Back Panel

Suggested handle position

www.bcspeakers.com – Suggested Designs



13

Enclosure Design
Part C: Horn Side Panel

www.bcspeakers.com – Suggested Designs



14

Enclosure Design
Part D: External Access Panel

Countersunk M6 holes and screws
suggested. 

www.bcspeakers.com – Suggested Designs



15

Enclosure Design
Part E: Internal Access Panel

M6 holes, screws and t-nuts
suggested. 

www.bcspeakers.com – Suggested Designs



16

Enclosure Design
Part F / G / H / I :  Woofer Chamber Panels

www.bcspeakers.com – Suggested Designs



17

Enclosure Design
Part L / M  :  Horn Internal Angles

Part N : Rear Woofer Chamber Reinforcements (2 Needed).

www.bcspeakers.com – Suggested Designs



18

Enclosure Design
Part O  : Horn Reinforcements (2 Needed)

www.bcspeakers.com – Suggested Designs

‘O’ panels positioning.
Same distances for N panels



19

Enclosure Design
Part P  : Baffle Panel

- 8 M6 holes on 527mm diameter
- Baffle cutout for the woofer is

510 mm

www.bcspeakers.com – Suggested Designs


